VR A FEAB DU A s A e A
H{ :mg L (FA A% HEEIRS) | perTEQ/L (XA A3 o ¥)

i 1 2 3 4 5 6 7 8 9 10
HoE oM TREX HEIX e X SO X B HX FHX fi) 1 X HEX KHEX KHEX
BRI T A < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
#h < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 003 < 0.002 < 0.002 < 0.002 < 0.002
NI < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
=S < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
KK ER < 0.0005 [< 0.0005 |[< 0.0005 |< 0.0005 |< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
7L L KER - - - - - - - - - -
PCB - - - - - - - - - < 0.0005
vrunaAH L < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002
PR AES 0. 0002 0. 0002 0.0002 | < 0.0002 0. 0002 0. 0002 0. 0002 0. 0002 0.0002 | < 0.0002
ke =1% ) ~— - - - - - - - - - < 0.0002
,2-Y7uonx i - - - - - - - - - < 0. 0002
L1I-Z7aaxF L[ 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
m(L2-Y7eex=F L[ <0.0004 < 0.0004 |[< 0.0004 0.0006 |< 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 [< 0.0004 [< 0.0004
5 ca-Lz-vren=rro [ <0.0002 [ < 0.0002 | < 0.0002 0.0004 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
M Fovaevreszsre | <0.0002 [ < 0.0002 | < 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002
He |1, 1,1-h ) Z7oexx 1< 0.0002 [<0.0002 [<0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002
H(LL2-rVZmexry - - — — - - - - - < 0.0002
HlrVZeagzFr o 0.001 0. 001 0. 001 < 0.001 0. 001 0.001 < 0.001 0.001 0.001 < 0.001
FhZ 7o F L[ 0.0002 [<0.0002 |<0.0002 [< 0.0002 [< 0.0002 |[< 0.0002 0.0006 | < 0.0002 [< 0.0002 |< 0.0002
L3> 7nura<. - - - - - - - - - < 0.0002
FU 7 A - - - - - - - - - < 0.0006
% - - - - - - - - - < 0.0003
FARXIINT - - - - - - - - - < 0.0003
NE < 0.0002 [<0.0002 [<0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002
T < 0.002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0.002 < 0.002 < 0. 002 < 0. 002
MR ER RO E R 0. 23 0.18 16 0. 87 1.2 0. 025 1.5 10 0.14 8.2
[EI3EEES 0.23 0.18 16 0.15 < 0.01 0. 02 1.5 10 0.14 8.2
A ER R 2SR 0. 007 0. 002 < 0.002 0.72 1.2 0. 005 < 0.002 < 0.002 < 0.002 < 0.002
BT 0.03 0. 09 < 0.02 0. 08 0.13 0. 04 0.07 0. 02 0.11 0. 22
ERES 0.03 0. 06 0. 06 0.03 0.11 1.0 0. 09 0. 02 0. 06 0.07
1,4~V %9 - - - - - - - - - < 0.005
e - - - - - - - - - -
w (VT FF5> = = = = = = = = = =
AN EEPs - = = = - - - - - -
w7 emra=1 - - - - - - - - - -
oY IR - - - - - - - - - -
FA A X VB - - - - - - - - - -
s DRBMTEE ) (XERBERMERIE &2 R,




AL mg L (FA AT HHARLS) | peTEQ L (XA A% )

s 11 12 13 14 15 16 17 18 19 20
noE s HHARX | HHAX | HEEX B X HhEF X A X BEX ALX sl X AR X
BRI UL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001

BN A2 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£ < 0.002 0. 003 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.002

N7 7 A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0. 008 < 0.005
KK ER < 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
7L VKR - - - - - - - - - -
PCB - - < 0.0005 - < 0.0005 |< 0.0005 |< 0.0005 — - < 0. 0005
VAR S < 0.0002 < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 |< 0.0002 [< 0.0002 [< 0.0002
ERAES < 0.0002 [<0.0002 |[<0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |[< 0.0002 [< 0.0002 [< 0.0002 |[< 0.0002
EILE=LF ) ~<— - - < 0.0002 - < 0.0002 < 0.0002 [< 0.0002 - - < 0.0002
Lo-YC7uon=xXx. - - < 0. 0002 - < 0.0002 [< 0.0002 |< 0.0002 — - < 0. 0002
L1-VZ7veexHF L] 0.0002 [<0.0002 [<0.0002 [<0.0002 |<0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
B |L,2-Y 7T L] <0.0004 [<0.0004 |<0.0004 [<0.0004 [<0.0004 [<0.0004 [<0.0004 |< 0.0004 [< 0.0004 |< 0.0004
B -l e-vran=rre| <0.0002 [ < 0.0002 [ < 0.0002 < 0.0002 [< 0.0002 [<0.0002 [<0.0002 |< 0.0002 [< 0.0002 |< 0.0002
pre brraevreszree | < 0.0002 [ < 0.0002 | < 0.0002 |< 0.0002 [< 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002
#e L, L,1-FU2Z7aa20[<C0.0002 < 0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
H [, L2-rVrmrmrs - - < 0.0002 — < 0.0002 [< 0.0002 |< 0.0002 — - < 0. 0002
Bl D Zaex=F1ro [<0.001 < 0.001 < 0.001 < 0.001 < 0.001 0.001 < 0.001 < 0.001 < 0.001 < 0.001
T hZ7 7o FL<0.0002 [<0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 |[< 0.0002 |< 0.0002 0.0002 |< 0.0002 | < 0.0002
1,3-YZ7unrua~y - - < 0.0002 - < 0.0002 < 0.0002 [< 0.0002 - - < 0.0002
T 7 A - - < 0. 0006 — < 0.0006 |< 0.0006 |< 0.0006 — - < 0. 0006
e - - < 0.0003 - < 0.0003 < 0.0003 [< 0.0003 - - < 0.0003
FFXUHNT - - < 0.0003 — < 0.0003 [< 0.0003 |< 0.0003 — - < 0.0003
R < 0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 |<0.0002 [< 0.0002 [< 0.0002
v < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002

SR R oS |18 5.9 9.0 < 0.012 1.7 1.8 < 0.012 < 0.012 < 0.012 14

HMRIEE SR 13 5.9 9.0 < 0.01 1.7 1.8 < 0.01 < 0.01 < 0.01 14

AR E R < 0.002 < 0.002 0. 002 < 0. 002 < 0. 002 < 0.002 < 0.002 < 0. 002 < 0.002 < 0.002

T S < 0.02 < 0.02 < 0.02 0.12 0. 04 0.03 0. 05 0. 04 0. 25 < 0.02

EPES 0.07 0. 04 0.01 < 0.01 0. 02 0. 05 0.01 < 0.01 0. 08 0. 03
1, 4-UFxY - - < 0.005 — < 0.005 < 0.005 < 0.005 - - < 0.005
Jx=btaF A - - - - - < 0.0002 [ < 0.0002 - - -
g A TaFFT - - - - — < 0.0002 [ < 0.0002 - - -
e P - - - - - < 0.004 < 0.004 - - -
VY - - - ~ ~ < 0.0002 | < 0.0002 - - -
eI R - - - - - < 0.0002 [ < 0.0002 - - -
A AxT ¥ - - - - - 0. 024 0.023 - - -




HAL :mg L (FA AT HHARLS) | peTEQ L (XA A% )

s 21 22 23 24 25 26 27 28 29 30
HOE OH K A X TS X AU X JERVAPS SENLX SENLX T i X T i X LA | JTF)IX
BRI UL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BN A2 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£ < 0.002 < 0.002 0. 002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
N7 7 A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0. 008 < 0.005
KK ER < 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
7L VKR - - - - - - - - - -
PCB - < 0.0005 - - - — — — - < 0. 0005
VAR S < 0.0002 < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 |< 0.0002 [< 0.0002 [< 0.0002
ERAES < 0.0002 [< 0.0002 < 0.0002 |< 0.0002 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
EILE=LF ) ~<— - < 0.0002 - - - - - - - < 0.0002
Lo-YC7uon=xXx. - < 0. 0002 - - - — — — - < 0. 0002
L1-VZ7veexHF L] 0.0002 [<0.0002 [<0.0002 [<0.0002 |<0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
g [1,2=C 7 oa=F U< 0.0004 0.0004 | < 0.0004 0.0007 |< 0.0004 [< 0.0004 |< 0.0004 [< 0.0004 [< 0.0004 [< 0.0004
B -l 2-vran=gre| <0, 0002 0.0002 | < 0.0002 0.0005 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 |[< 0.0002
A brraevreszree | < 0.0002 [ < 0.0002 | < 0.0002 |< 0.0002 [< 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002
¥ [ L -rv7aozzo [< 0.0002 0. 0002 0.0004 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002
H [,1,2-FY oz - < 0.0002 - - - - - - - < 0.0002
Bl D Zaex=F1ro [<0.001 0. 002 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS7mmn=F L[ 0.0002 0.0014 0.0014 [< 0.0002 |[< 0.0002 |< 0.0002 [< 0.0002 0.0002 |< 0.0002 | < 0.0002
1,3-YZ7unrua~y - < 0.0002 - - - - - - - < 0.0002
FU 7 A - < 0.0006 - - - - - - - < 0.0006
e - < 0.0003 - - - - - - - < 0.0003
FFXUHNT - < 0.0003 — — — — — — - < 0.0003
R < 0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 |<0.0002 [< 0.0002 [< 0.0002
v < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002
I E R R O REER [ 18 8.4 6.5 < 0.012 < 0.012 0.018 < 0.012 0.034 < 0.012 < 0.012
HMRIEE SR 13 8.4 6.5 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
AR E R < 0.002 < 0.002 < 0. 002 < 0. 002 < 0. 002 0. 008 < 0.002 0. 024 < 0.002 < 0.002
T S < 0.02 0. 02 0. 02 0. 09 0. 05 0. 05 0. 04 0.12 0.61 0.15
EPES 0. 02 < 0.01 < 0.01 0. 02 0. 02 0. 03 0.01 0.03 0. 26 0.22
1, 4-UFxY - < 0. 005 - — — - - - - < 0.005
Jx=btaF A - < 0.0002 - - - - - - - < 0. 0002
g A TaFFT - < 0. 0002 - — — - - - - < 0. 0002
e P - < 0.004 - - - - - - - < 0.004
VY - < 0.0002 - - - - - - - < 0.0002
eI R - < 0.0002 - - - - - - - < 0. 0002
A AxT ¥ - 0. 024 - - - - - - - 0. 043




AL mg L (A AT HHARRS) | peTEQ L (XA A% )

s 31 32 33 34 35 36 37 38 39 40
HOoE M AR NETFH | NEFH | NEFH | NEFH | NEFH ST B T =& T S
BRI UL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BT < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
AR < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
KK ER < 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
7L VKR - - - - - - - - - -
PCB - < 0.0005 | < 0.0005 - - < 0.0005 — — < 0. 0005 -
VAR S < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002
ERAES 0.0005 |< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 0.0005 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002
EILE=LF ) ~<— - < 0.0002 | < 0.0002 - - < 0.0002 - - < 0.0002 -
L2->/Z7un=xi, - < 0.0002 [ < 0.0002 - - < 0. 0002 — — < 0. 0002 -
L1I-ZvpopxFLo|<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002
o |L,2-Y7uaxF L] <0.0004 [<0.0004 |<0.0004 [<0.0004 |[< 0.0004 0.0007 [< 0.0004 [< 0.0004 |< 0.0004 |< 0.0004
B -l 2-vran=Fre| <0.0002 [ < 0.0002 [< 0.0002 < 0.0002 [< 0.0002 0.0005 [< 0.0002 [< 0.0002 [< 0.0002 [< 0.0002
pre brraevreszree | < 0.0002 [ < 0.0002 | < 0.0002 |< 0.0002 [< 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002
#e L, L,1-FU2Z7aa20[<C0.0002 < 0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
I [1,1,2-RYsppxx - < 0.0002 [ < 0.0002 — — < 0. 0002 — — < 0. 0002 -
Bl D Zaex=F1ro [<0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
S Z7mnxFL < 0.0002 | < 0.0002 0.0006 | < 0.0002 |[< 0.0002 |< 0.0002 0.014 0.0017 [< 0.0002 | < 0.0002
13-/ ra~y - < 0.0002 [ < 0.0002 - - < 0.0002 - - < 0.0002 -
T 7 A - < 0.0006 | < 0.0006 — — < 0. 0006 — — < 0. 0006 -
D - < 0.0003 [< 0.0003 - - < 0.0003 - - < 0.0003 -
FAXTNT - < 0.0003 [ < 0.0003 — — < 0.0003 — — < 0.0003 -
i < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002
A2 < 0.002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002
R R R ORI E R [ 0. 51 4,22 3.36 2.31 < 0.01 1.5 7.1 2.6 0.45 3.8
HMRIEE SR - - - - - 1.5 7.1 2.6 0. 45 3.8
RS AT 22 5 - - - - - < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
T S <0.02 [< 0 0.02 0.06 |< 0.02 0. 02 0.03 0. 02 0. 02 0.11 0. 04
EPES < 0.0 [< 0.01 0.02 |< 0.01 [< 0.01 0. 02 0.01 0.01 0. 04 0.03
1,4-F4 %9 - < 0.005 | < 0.005 — — < 0.005 - - < 0.005 -
Jx=bhaFAtr - < 0.0002 [< 0.0002 - - - - - < 0.0002 -
% Ay TuaFto - < 0.0002 | < 0.0002 — — - - - < 0. 0002 -
g PR - < 0.004 < 0.004 - - - - - < 0.004 -
VY - < 0.0002 [< 0.0002 — — - - - < 0. 0002 -
eI R - < 0.0002 | < 0.0002 - - - - - < 0.0002 -
A Fx M 0.025 - - - - - - - 0. 025 -




HAL cmg L (FA AR A

B<) L pg-TEQ L (XA A4 x T L ¥H)

s 41 42 43 44 45 46 47 48 49 50
noE Y= AT s s s /N /N HET WA | EasE
BRI UL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
BN A2 < 0.1 < 0.1 < 0.01 < 0.01 < 0.01 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0. 005 < 0.002 < 0.002 < 0.002 < 0.002
N7 7 A < 0.01 < 0.01 < 0.02 < 0.02 < 0.02 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
KK ER < 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
7L LK ER - - < 0.0005 |< 0.0005 [< 0.0005 - - - - -
PCB - < 0.0005 - - < 0.0005 — — — < 0. 0005 -
VAR S < 0.0002 [< 0.0002 |[< 0.002 < 0.002 < 0.002 < 0.0002 [<0.0002 [< 0.0002 |< 0.0002 |< 0.0002
ERAES < 0.0002 [<0.0002 < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002 0.0009 [< 0.0002 |[< 0.0002 |< 0.0002
EILE=LF ) ~<— - < 0.0002 - - < 0.0002 - - - < 0.0002 -
Lo-YC7uon=xXx. - < 0. 0002 - - < 0. 0004 — — — < 0. 0002 -
LI-VZoaxF L ]<0.0002 [<0.0002 [< 0.002 < 0.002 < 0.002 < 0.0002 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002

i’ [L2-v27ua=F L [<0.0004 [<0.0004 < 0.004 < 0.004 < 0.004 < 0. 0004 0.0005 |< 0.0004 [< 0.0004 |< 0.0004
B -l 2-vran=Fro| <0.0002 [ < 0.0002 | < 0.002 < 0.002 < 0.002 < 0.0002 0.0003 [< 0.0002 |[< 0.0002 |< 0.0002
pre prraevreszsee | < 0.0002 [ < 0.0002 | < 0.002 < 0. 002 < 0. 002 < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002
#e L, 1-FUZ7aas0[<C0.0002 |<0.0002 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0002 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002
I [1,1,2-RYsppxx - < 0. 0002 — — < 0. 0006 — — — < 0. 0002 -
Bl D Zaex=F1ro [<0.001 < 0.001 < 0.002 < 0.002 < 0.002 < 0.001 < 0.001 0.001 < 0.001 < 0.001
T hZ 7o F L)< 0.0002 [<0.0002 [< 0.0005 [< 0.0005 |[< 0.0005 0.0005 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002
1,3-YZ7unrua~y - < 0.0002 - - < 0.0002 - - - < 0.0002 -
FTUT A - < 0. 0006 — — < 0. 0006 — — — < 0. 0006 -
e - < 0.0003 - - < 0.0003 - - - < 0.0003 -
FFXUHNT - < 0.0003 — — < 0. 002 — — — < 0.0003 -
R < 0.0002 [< 0.0002 [< 0.001 < 0.001 < 0.001 < 0.0002 [<0.0002 [<0.0002 |< 0.0002 |< 0.0002
A2 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002
I ER RO E R | 6. 6 < 0.012 3.2 < 0.1 2.9 5.7 5.6 4.3 6.0 6. 4
HMRIEE SR 6.6 < 0.01 - - - 5.7 5.6 4.3 6.0 6.4
AR E R < 0.002 < 0.002 - - - 0.034 0. 065 < 0. 002 < 0.002 < 0.002
T S 0. 05 0. 04 < 0.08 < 0.08 < 0.08 0.03 0.03 0. 05 0. 02 0. 02
EPES 0. 02 < 0.01 < 0.02 0. 02 < 0.02 < 0.01 < 0.01 < 0.01 0.01 < 0.01
1,4-F4 %9 - < 0. 005 — — < 0.005 - - - < 0.005 -
Jx=btaF A - - - - < 0.0003 - - - < 0.0002 -
g A TaFFT - - - - < 0.004 - - - < 0. 0002 -
e PR - - - - < 0.004 - - - < 0.004 -
VY - - - - < 0.005 - - - < 0.0002 -
eI R - - - - < 0.0008 - - - < 0.0002 -
A Fx M - - - - - - - - 0.023 -




BAL cmg L (FA ARV FERLS) | peTEQ L (XA A x 2 H) HAfT -

&= 51 52 53 54 55 56 57 58 59 60
noE EShvATT] fEmAETT BT R T TEWETT | ARCKTT | AL | ZEET Tk i PR
BRI UL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001

BN A2 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.010 < 0.002 < 0.002 < 0.002

N7 7 A < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 < 0.01
it < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
KK ER < 0.0005 |< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 [< 0.0005 [< 0.0005
7L VKR - - - - - - - - - -
PCB - - - - - — — < 0.0005 - < 0.0005
VAR S < 0.0002 < 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 |< 0.0002 [< 0.0002 [< 0.0002
i RIES < 0.0002 [<0.0002 |[<0.0002 [< 0.0002 [< 0.0002 [< 0.0002 |[< 0.0002 [< 0.0002 [< 0.0002 |[< 0.0002
HLE=LE ) ~— - - - - - - - < 0.0002 - < 0.0002
Lo-YC7uon=xXx. - - - - - - — < 0. 0002 - < 0.0002
LL1I->Zuaua=xFL | 0.0002 0.0009 |< 0.0002 [< 0.0002 0.0005 [< 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 [< 0.0002
g [, 2=CZ7aa=Fr o 0.0009 0.0005 |< 0.0004 |< 0.0004 0.0004 | < 0.0004 0. 0008 0.0006 | < 0.0004 [< 0.0004
B -l 2-vran=sre| (.0007 0.0003 |< 0.0002 [< 0.0002 0.0002 | < 0.0002 0. 0006 0.0004 [< 0.0002 |< 0.0002
Pre b7raevreszree | < 0.0002 [ < 0.0002 | < 0.0002 |< 0.0002 [< 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002
¥ [ L, -rvzao=zo | 0.0009 0. 0006 0.0002 [< 0.0002 |[< 0.0002 |< 0.0002 0.0030 [< 0.0002 |[< 0.0002 |< 0.0002
H [, L2-rVrmrmrs - - - - - — — < 0. 0002 - < 0.0002
S DR E=E= = 0.001 < 0.001 0.001 < 0.001 0. 005 < 0.001 0.001 < 0.001 < 0.001 < 0.001
T hZ 7o F L < 0.0002 | < 0.0002 0.0032 [< 0.0002 |[< 0.0002 |< 0.0002 0.0017 0.0022 [< 0.0002 | < 0.0002
L3—YZunra~<. - - - - - - - < 0.0002 - < 0.0002
FU 7 A - - - - - - - < 0.0006 - < 0.0006
e - - - - - - - < 0.0003 - < 0.0003
FFXUHNT - - — — — — — < 0.0003 - < 0.0003
R < 0.0002 [< 0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 [<0.0002 |<0.0002 [< 0.0002 [< 0.0002
v < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002
ISR RO WRIEER | 4.0 2.9 15 0.35 6.8 9.5 5.0 0.10 0.21 0.012

HMRIEE SR 4.0 2.9 15 0. 35 6.8 9.5 5.0 0. 10 0.21 0.01
A EE R R < 0.002 < 0.002 < 0. 002 < 0. 002 < 0. 002 < 0.002 0. 048 < 0. 002 < 0.002 < 0.002

T S 0.03 0.07 0. 02 0. 05 0. 02 < 0.02 0.03 0. 06 0. 07 0. 07

EPES 0.01 0. 02 0. 03 0.01 < 0.01 < 0.01 0. 05 0.01 < 0.01 0. 02
1, 4-UFxY - - - - - - - < 0.005 - < 0.005
Jx=btaF A - - - - - - - < 0.0002 - -
gﬁ%yﬁz%ﬁi‘/ - - - - - - - < 0. 0002 - -
%ﬁé‘ 7% - - - - - - - < 0.004 - -
W7 aaxa=1 - - - - - — — < 0.0002 - -
ZJoE#IF - - - - - - - <_0.0002 - -
HAAXV M - - - - - - - 0. 024 - -




mg /L (FAFAXL A

B<) | pg-TEQ L (XA A4 x T ¥H)

WAL mg L (XA AT HHARS) | peTEQAL (XA A% )

= IHE R
i) 61 62 63 64 65 72 SARWE | o | ® iﬁﬁgiﬁ —
Sz, * [ !:4‘: = b‘;
B M A | bE AWM | pHURW | BT | AomAr | s R ot I
BRI UL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 65 < 0.001 0.003 LLF
BN A2 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 65 < 0.1 BHENnAnwZ b
£ < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 65 0.01 0.01 LA'F
N7 a L < 0.01 < 0.01 < 0.01 < 0.01 < 0.01 65 < 0.02 0.05 LLF
fitts& < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 65 0. 008 0.01 UF
TR ER < 0.0005 | < 0.0005 < 0. 0005 < 0. 0005 < 0.0005 65 < 0. 0005 0. 0005 LAF
7L LK ER - - - - - 3 < 0.0005 RS2z &
PCB - < 0.0005 - - - 18 < 0.0005 R SR &
VAR S < 0.0002 < 0.0002 [<0.0002 [< 0.0002 |< 0.0002 65 < 0.002 0.02 LI'F
ERAES < 0.0002 < 0.0002 < 0.0002 < 0.0002 0. 0002 65 0. 0009 0.002 LA'F
HLE=LE ) ~— - < 0.0002 - - - 18 < 0.0002 0.002 LAF
Lo-YC7uon=xXx. - < 0. 0002 - - - 18 < 0.0004 0.004 LIF
L1-YZ7vexF L] 0.0002 [<0.0002 [<0.0002 [<0.0002 |< 0.0002 65 0. 0020 0.1 UUF
o |L,2-Y7uaxF L] <0.0004 [<0.0004 |<0.0004 [<0.0004 |[< 0.0004 65 0. 004 0.04 LI'F
B -l 2-vran=Fre| <0.0002 [ < 0.0002 [< 0.0002 < 0.0002 [< 0.0002 65 0. 002 —
Pre b7raevreszree | < 0.0002 [ < 0.0002 [ < 0.0002 |< 0.0002 [< 0.0002 65 < 0.002 —
#e L, L,1-rU2Z7aax[<C0.0002 |[<0.0002 [<0.0002 [< 0.0002 |< 0.0002 65 0.003 1 LLF
H [,1,2-FY oz - < 0. 0002 - — — 18 < 0. 0006 0.006 LLF
Bl D Zaex=F1ro [<0.001 < 0.001 < 0.001 < 0.001 < 0.001 65 0. 005 0.03 LI'F
T hZ 7o F L)< 0.0002 [<0.0002 [<0.0002 [< 0.0002 [< 0.0002 65 0.014 1 0.01 IF
1,3-YZ7unrua~y - < 0. 0002 - - - 18 < 0.0002 0.002 LI'F
FU 7 A - < 0.0006 - - - 18 < 0.0006 0.006 LLF
T - < 0.0003 - - - 18 < 0.0003 0.003 LLF
FA X HNT - < 0.0003 - - - 18 < 0.002 0.02 AT
NP < 0.0002 < 0.0002 [<0.0002 [< 0.0002 |< 0.0002 65 < 0.001 0.01 LI'F
v < 0. 002 < 0. 002 < 0. 002 < 0. 002 < 0. 002 65 < 0.002 0.01 IF
TR R ORI R | 0. 14 0.52 5.4 0.11 3.8 65 16 5 10 LUF
HMRIEE SR 0.14 0.51 5.4 0.11 3.8 57 16 —
A EE R R < 0.002 0.014 < 0. 002 < 0. 002 < 0. 002 57 1.20 —
T S 0.16 0. 05 0.03 < 0.02 0. 05 65 0.61 0.8 LR
EPES 0.01 < 0.01 0. 02 < 0.01 0.01 65 1 1 LLF
1, 4-UFxY - < 0. 005 — — — 18 < 0.005 0.05 LI'F
Jx=bhaFAtr - < 0. 0002 - - - 11 < 0. 0003 ( 0.003 LLF )
w AV TaFFT - < 0.0002 - - - 11 < 0.004 (0.04 LLF)
%ﬁé‘ 7% L8 - < 0.004 - - - 11 < 0.004 (0.04 LT )
VY - < 0.0002 — — — 11 < 0.005 (0.05 LLF )
oty IR - < 0.0002 - - - 11 < 0. 0008 ( 0.008 LLF )
A AxT ¥ - 0.023 - — - 9 (9)] 0.043 1 LLF

RPN ERIE R B RO T, N TH D,
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FRR24FEE T KBRGERAETRER
- szt 9-o|rsua_ _ 1 = LS A -
wl s |2v7| @ S mes | TEE §amry el Ve 1527{57‘ = [y 17 R A A4 ﬁﬁi@uﬁ | THEE | s o5 | @ox
Y o nrFLy [z % Ly =t
(mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) | (mgN/L) | (mgN/L) [ (mgN/L) | (mg/L) (mg/L)

1 [dRx — 0. 005 — 0.084 | — — — — — — — — — — — — —
2 [k — — — — — — — — — — — — — — — — 2.3
3 [#ifE X — — — — — — — — — — — — 8.5 8.5 [<o0.002 | — —
4 (HrEX — — — — — — — — — — — — 15 15 <o.002 | — —
5 |#iEx - - - - - - - - - - - - 17 17 <0.002 [ — -
6 |#riEIx - - - - - - - - - - - - 5.6 5.6 |<o0.002 | — -
7 [somx - - - - - - - - - - - - 14 14 <0.002 [ — -
8 |scmix - - - - - - - - - - - - 5.8 5.8 |<o0.002 | — -
9 [STHX - — — — — 0.031 |<0.0004 [<0.0002 |<0.0002 | 0.015 0.001 [<0.0002 [ — - - - -
10 | 30K - - - - - - - - - - - - 12 12 <0.002 [ — -
11 [T X — 0.018 — — — — - - — — — — — — — — —
12 | &)X - - — — — < 0.0002 < 0.0004 < 0.0002 < 0.0002 [< 0.0002 [< 0.001 [<0.0002 9.5 9.5 < 0.002 — —
13 [deJIX — — — — — — — — — — — — 8.7 8.7 < 0.002 — —
14 |BRX ) — — — — — — — — — — — — 10 10 < 0.002 — —
15 |HEX — — — — 0. 0030 — — — — — — — — — — — —
16 | KHX — — — — — — — — — — — — 10 10 < 0.002 — —
17 [KHEX - - — — — 0. 0004 0. 056 0. 056 0. 0002 — 0. 053 0. 0005 — — — — —
18 [KHX - - — — — < 0.0002 0.011 0.010 0. 0009 [< 0.0002 0. 005 0. 039 — — — — —
19 [KHEX - - — — — 0.0010 0. 31 0.31 0.0013 0. 0028 0. 26 0.16 — — — — —
20 | KHX - - — — — 0. 0009 0. 046 0. 045 0. 0007 0. 0007 0.020 0. 053 — — — — —
21 [HHEAX - — — — — < 0.0002 < 0.0004 < 0.0002 < 0.0002 — < 0.001 0.0041 — — — — —
22 |tEAX - - — — — < 0.0002 < 0.0004 < 0.0002 < 0.0002 — < 0.001 0. 026 — — — — —
23 [HEHAX - - — — — < 0.0002 0. 0005 0. 0003 < 0.0002 — < 0.001 0. 048 — — — — —
24 (HHEAX - - — — — < 0.0002 < 0.0004 < 0.0002 < 0.0002 — < 0.001 0.0012 — — — — —
25 | A X — — — — — — — — — — — — 10 10 < 0.002 — —
26 |HEA X — 0. 004 — — — — — — — — — — — — — — —
27 [ X - - - - — < 0.0002 0. 0004 0. 0002 < 0.0002 0. 0002 0. 001 0.017 — — — — —
28 [FAF[X - — — - — 0. 0002 0.0013 0.0011 < 0.0002 0. 0002 0. 003 0. 047 — — — — —
29 [ 5K — — — — — — — — — — — — 11 11 < 0.002 — —

9/ 13 X—v




I 5245 FE #h T K

GEEs Al EAE R

No.

T iR

BTV

(mg/L)

Al
/A=

e

Pt ft

PR

(mg/L)

L1=v7
ooxT-F L

(mg/L)

1,2—v7nm

nxTF L

(mg/L)

YA 2—Y
s L

(mg/L)

T A=
,2—v7n
nTF L

L, 1,1—hk
PR/ =a=gas
B

NP
oxT—F L
v

vl Va4
oo
L

fHERTE = 3
B OVl
MEEHR

(mgN/L)

B

(mgN/L)

Hf iR

(mgN/L)

SHo#

ESES

30

BEX

(mg/L)

(mg/L)

(mg/L)

(mg/L)

(mg/L)

(mg/L)

(mg/L)

14

14

< 0.002

(mg/L)

(mg/L)

31

BEX

0. 028

32

X

0. 006

33

FE) X

34

B X

11

11

< 0.002

35

B X

<

<

< 0.0002

< 0.0002

< 0.0002

36

B ()

10

10

< 0.002

37

B ()

10

10

< 0.002

38

B X

< 0.01

< 0.01

10

10

< 0.002

39

B X

< 0.01

< 0.01

40

HA X

28

28

< 0.002

41

B X

10

10

< 0.002

42

0.010

43

0.013

44

10

10

0. 002

45

8.4

8.4

< 0.002

46

MG ()

0.0016

0.0013

0.0011

N

0. 0002

0. 0003

0.013

0. 0021

47

0. 0002

0. 0005

0. 0003

N

0. 0002

0. 0006

<

0.001

0.012

48

0. 0002

0. 0005

0. 0003

N

0. 0002

0. 0005

0.001

0.019

49

0. 0002

0. 057

0. 057

0. 0004

0.001

< 0.0002

50

ALK ()

0. 005

51

X ()

52

K ()

0. 005

53

1L IX

0. 021

54

1L IX

0. 023

55

T X

0.019

56

ST

0. 0017

<

0. 0002

0. 0004

< 0.0002

0. 0002

0. 003

0. 0005

57

ST

0. 0003

0. 0009

0. 0039

0. 0037

0. 0002

0. 0003

0. 009

< 0.0002

58

ST

< 0.0002

0. 0008

0. 0006

0. 0004

0. 0002

0. 0006

0.004

< 0.0002

59

BB

0. 0002

0. 0004

< 0.0002

0. 0002

0.001

0. 0085
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24 E T KB RERFAERER
. - PO =~ _ 1 = = W ik M- e
wl s |2¥7| @ S mes | TEE §amry Al Ve f?{fy} lu’?’lml UESASH A ﬁﬁi@f@i mmea| THEE | s o5 | @ox
N v Pl gy N L PEEFR
(mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) | (mgN/L) | (mgN/L) [ (mgN/L) | (mg/L) (mg/L)
60 | FURRE T - — — — — < 0.0002 |< 0.0004 [< 0.0002 |< 0.0002 — < 0.001 0.011 — — — — —
61 | PR T - — — — — < 0.0002 |< 0.0004 [< 0.0002 |< 0.0002 — < 0.001 0.015 — — — — —
62 | B R T - — — — — < 0.0002 |< 0.0004 [< 0.0002 |< 0.0002 — < 0.001 0. 0069 — — — — —
63 | B T - — — — — < 0.0002 |< 0.0004 [< 0.0002 |< 0.0002 — < 0.001 0.015 — — — — —
64 |FURRE T - — — — — < 0.0002 |< 0.0004 [< 0.0002 |< 0.0002 — < 0.001 0.016 — — — — —
65 | R T — — — — — < 0.0002 |< 0.0004 |< 0.0002 [< 0.0002 — < 0.001 | 0.0018 — — — — —
66 | ZJET - — — — — < 0.0002 |< 0.0004 |< 0.0002 [< 0.0002 — < 0.001 | 0.0067 — — — — —
67 (ZJET - - — — — < 0.0002 |< 0.0004 |< 0.0002 [< 0.0002 0.0002 |< 0.001 | 0.045 — — — — —
68 | ZJET - — — — — < 0.0002 [< 0.0004 |< 0.0002 [< 0.0002 |< 0.0002 0.001 | 0.0097 — — — — —
69 (ZJET - - — — — < 0.0002 |< 0.0004 |< 0.0002 [< 0.0002 0.0002 |< 0.001 | 0.044 — — — — —
70 (FAfET - - - - — < 0.0002 0.0012 0.0010 | < 0.0002 — 0. 002 0. 056 — — — — —
71 [FE - - - - — < 0.0002 0. 0004 0.0002 | < 0.0002 — < 0.001 0. 023 — — — — —
72 T — — — — < 0. 0002 0. 0005 0. 0015 0.0013 | < 0.0002 [< 0.0002 0.016 | 0.0030 — — — — —
73 T — — — — < 0. 0002 0.011 0.0018 0.0016 | < 0.0002 0. 0005 0.054 | 0.0002 — — — — —
74 T — — — — < 0.0002 |< 0.0002 0. 0037 0.0035 |< 0.0002 [< 0.0002 0.001 |<0.0002 — — — — —
75 | M7 T 13
76 |MTH T < 0.0002 [<0.002 |<0.004 [< 0.002 < 0.002 |< 0.0005 [< 0.002 [ 0.0011
77 |MTH T < 0.0002 [<0.002 |<0.004 [< 0.002 < 0.002 |< 0.0005 [< 0.002 [ 0.0019
78 |MTH T < 0.0002 [<0.002 |<0.004 [< 0.002 < 0.002 |< 0.0005 [< 0.002 [ 0.0006
79 |MTH T < 0.0002 [<0.002 |<0.004 [< 0.002 < 0.002 |< 0.0005 [< 0.002 [ 0.0007
80 |/N&H:Hi — — — — — — — — — — — — 16 16 < 0.002 — —
81 /& H — — — — — < 0.0002 [< 0.0004 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.001 [ 0.0055 — — — — —
82 /& HT — — — — — < 0.0002 [< 0.0004 |< 0.0002 |< 0.0002 [< 0.0002 [< 0.001 [ 0.0059 — — — — —
83 |/h&Fh — — — — — < 0.0002 [< 0.0004 |< 0.0002 [< 0.0002 |< 0.0002 |< 0.001 [ 0.012 — — — — —
84 | /N FEH — 0. 021 — — — — — — — — — — — — — — —
85 | H ¥ 17 — — — — — 0. 0024 0.019 0.019 < 0. 0002 0. 0005 0. 16 0. 0045 — — — — —
86 | H ¥ — — — — — 0. 0022 0. 020 0. 020 < 0. 0002 0. 0007 0.020 | 0.010 — — — — —
87 | A BFHi — — — — — — — — — — — — 9.6 9.6 < 0.002 — —
88 |[E/r=Fi - - — — 0. 0002 0. 0059 0. 0027 0.0025 | < 0.0002 0. 0002 0.074 | 0.0009 — — — — —
89 |[E 7 HT — - - — — < 0.0002 |< 0.0004 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.001 | 0.0073 — — — — —

11/ 13 "=




FR24FE T KB ERAERR

- Lz 09— Sz — — 1 > k= W s -
wl s |2¥7| @ S mes | TEE §amry Al Ve f?{fg . llj?’lml UESASH A ﬁﬁi@f@i mmea| THEE | s o5 | @ox
o Y nxFLy (& N Ly PR
(mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (mg/L) | (mgN/L) | (mgN/L) [ (mgN/L) | (mg/L) (mg/L)
90 |E Sz - - — — — < 0.0002 0. 0009 0.0007 [< 0.0002 |< 0.0002 |< 0.001 | 0.032 - - - - -
91 |E sz - - — — — < 0.0002 0. 0009 0.0007 [< 0.0002 |< 0.0002 |< 0.001 | 0.031 - - - - -
92 [Escifi () - - - - - - - - — — — — 4.4 4.4 < 0.002 — —
93 |f@ATh - - — — — < 0. 0002 0.019 0.019 < 0. 0002 — 0.001 0. 048 — — — — —
94 [JAiLih — — — 0. 034 — 0.0012 0. 058 0. 058 0. 0005 — 0.011 [<0.0002 — — — — —
95 |JALT — - - - - - — — - — — — 1.0 1.0 < 0.002 — —
96 [JAiLTh - - - - - < 0. 0002 0. 0005 0.0003 [< 0.0002 - <0.001 [ 0.011 - - - - —
97 | HCRFnTH — — — — — 0.0013 0. 0020 0.0018 [< 0.0002 | 0.0006 0.013 [<0.0002 - - - — —
98 | KANT - - - - - - - - - - - - 10 10 < 0.002 — —
99 |THWTT — - - - - - — — - — — — 9.6 9.6 < 0.002 — —
100 |5 Wi — - - - - - — — - — — — 9.4 9.4 < 0.002 — —
101 [V T — - - - - - — — - — — — 9.4 9.4 < 0.002 — —
102 | Z A 1T - - - - - < 0.0002 |< 0.0004 |< 0.0002 [< 0.0002 - < 0.001 0. 021 — — — — —
103| 5 % 2 Bl - - - - — < 0.0002 [< 0.0004 |[< 0.0002 |< 0.0002 - < 0.001 [ 0.0012 - - - — —
104|& & 2 BFTH — - - - - - - - — — — — 6.1 6.1 < 0.002 — —
105 (& & 2 BFTH — - - - - - - - — — — — 7.9 7.9 < 0.002 — —
106 | 75 B T — — — — — < 0.0002 [< 0.0004 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.001 | 0.013 - - - - —
107 | 6 BT - - - - — < 0.0002 0. 0005 0.0003 [< 0.0002 | 0.0004 |< 0.001 | 0.0088 - - — — —
108 | 75 B T — — — — - - - - - - - - 11 11 < 0.002 — —
109 | 75 BT - - - - — < 0.0002 0. 0008 0.0006 [< 0.0002 | 0.0005 |< 0.001 | 0.0093 - - — — —
110 | HifEHT - - — — — < 0.0002 [< 0.0004 [< 0.0002 [< 0.0002 - < 0.001 [ 0.0074 - - - — —
111 | HifEmT — — — — — — — — — - - - 7.7 7.7 < 0.002 — —

() ZOHUE TR, HFIAERIEREFORAIRHFLNRD, HDWFEAK OFFM) | PO - BEIL%RE T2 Enb, EBROIFIAEOHEG IO & R 23RE Uit 2 % L7,

12 /13 =¥




TR AR VS YR R D A

T RTAEOESIE, REAEREZ R,

et 22 58 K OVE A R e 2258 (BG 1K) (mg/L)
. B e 1 28 3R e OVl R P 22 5 %
No. | & Hi
ek | R

1| RIEX 6.1 6.1 <0. 002
2| RIBX 15 15 <0. 002
3| HBIX 9.0 9.0 <0. 002
41 HIBX 8.6 8.6 <0. 002
5| HBIX 9.4 9. 4 <0. 002
6| MWIBX 8.1 8.1 <0. 002
7| BB 11 11 <0. 002
8| MBI 13 13 <0. 002
9| IRIEX 9.2 9.2 <0. 002

BrbE AL e 10 LR — —

ko RR2AE M T KDL A CEREEALIEE OB AT D6 MR O 5 B 5 U Sk AR R A O SE R &
(L& BRI YSIRIL D B BERI D753 & FIWT L 155 5 A XA & 4 s L7,



